Best model for HELP J141359.485+522200.466 at z = 0.778 x?>=0.67
OPTx?=0.86 IRx?=0.03 threshold (OPT IR)=14.23 [um]

1 : Stellar attenuated
102 E = . Stellar unattenuated
3 . —— Dust emission
—— AGN emission

1 . = Model spectrum
10% 4 A e Model fluxes
] . M oObserved fluxes

I
=

T UL | T T T T T T T T T T T cM
10° 10! 102 103 104 @ A

Observed wavelength [um]

';: B
- 0 J
E 1073 :
x .
-] .
v 1071 4 " in“r""ﬂr AV
""i-\.'"“"rﬁ"-— \ |
1072
é ]
077 3
= ] == (Obs-Mod)/Obs
3 ]
2 ] | ]
o 0 ----fr‘lvl — e —————————
_
A |
=
p)
(V]
[a'd



